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29 2 24

29 3
27 31 5
|
47.0% H29
41.2% H26 48.8% H3l
|
(H28 Y | (H29 )
(H26 y | Heo Ha1 )
44.3% 47.0%
/ 41.2% 47.7% 48.8%
4,629 4,629
5,366 5,366 0 0 0.0%
Ho7 | H28 | H29 | H30 | Hal
No 1
Al-1-1 A=2.0ha =
A=0.8ha 30
AL12 A=0.1ha 3
A=0.5ha 17
AL13 A=0.1ha 3
A=0.6ha 23
N1d A=0.1ha 3
A=0.2ha 8
]
A1 220
0
AL-1-6 A=3.0ha 27
111
NO.2
Al-2-1 A=13.0ha B
A=10.5ha 479
Al-2-2 A=4_.0ha 7
A=5.0ha 213
]
AL-2-3 872
1503
= |
N2-4 =670 90
L=610 179
NO.3
AL31 A=0.1ha 4
A=0.4ha 16
AL32 A=1.7ha 74
A=3.5ha 156
A1-3-3 A=0.1ha 2
A=0.6ha 26
AL-3-4 A=8.5ha 63
A=2.6ha 113
A1-3-5 A=4.1ha 78
A=1.8ha 77
AL36 =850 148
L=270 80




NO.4

a1 L=1,000 150
L=1,010 214
2 L=1,080 436
L=1,200 540
i3 A=24.1ha 793
A=16.1ha 718
i L=660 169
L=900 356
AL-4-5 A=26.Tha 100
A=2.2ha
it L=900 112
L=830 271
T A=12.2ha 66
A=0.6ha 25
Al-4-8 | 118
111
4,629
5,366
|

[ H26 | 27 | Hes | H29 | H30

H26 | H27 | 28 | He9 | Ha

H26 | Her | Hes | H2o | Hao




H27 H28 H29 H30 H31
830.0 500
a
0 0
b
et 830.0 500
; 50.6 18.7
831.9
e
. 18.7
18.7
g
h = ctd-e-f 0
5,50

(h = (g+th)/(c+d)
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